Wood.c.ote Primary Sch.ool
Resources for poarents

Year 2: Summer Term

Star Words/ Vocabulary Lisk

Vioc.ahulary Example
| digit numhber O, I, 2, 3, 4, 5,6, 7, 8 49
2 digit numhber I, 21, 32, 43 etc
Place Value The value of each digit in a
numher (see helow).
Ones 54 has 4 ones.
Tens Ones
‘ B
Hn
Tens 54 has 5 tens.
Tens Ones
H B
N
Hundreds Hundreds Tens Ones 254 has 2
[] HH H B | hundreds.
[] H N
Partitioning A way of hreaking a numhber into
parts i.e; hundreds, tens and
ONLeA.
452 = 400 + 50 + 2
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Rz,g roup

If T hawve ten ones [ can regroup
them in to one ten. i.e.
|+ 1+[+1+1++1+1+1+] = 10 or

mn ...J,/s,thz/s,amz,a/s
HEEglpg

s equal to (=)

The numhber of _ is equal to the
numhber of .

12 add 3 is equal to |5.

12 plus 3 is equal to 15.

The same as

The numhber of _ is the same as
the number ,cr; .

Increase/ Increasing

When a numhber or sequence is

getting higqger.

»

“The pattern is increasing by

Decrease/ Decreasing

When a numher or pattern is
Qetting amaller.

“The pattern is decreasing by

»

Count on

The method wherehy the children
count on from the highest
numher to find o total of two
numhers.

A,L,t,o,g ether

H.ow many are there ,a.i,t,a,gz,t.h.zr?

There are __ apples altogether.

Number bhond

A way of representing o numhbher
using o part-part whole maodel
(see helow).

Parts that make a whole; 13 add 3
is equal to 6.
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Part Whole diagram
15

(Resouwrce)
EK \
5=

(parts)

Wwhole)

Part(s) , 5
o

“One of our ports is 157
“One of our parts is 5"

20 is the whole. |15 and 5 are the
p,,a..r,t/s,.

Wh.ole , 5
7

“Our whole is 20”.
20 is the whole. |15 and 5 are the
.p,,a,r,t/s..

Make ten stroteguy
(Meth.od) q+7= 1046+ 16
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When an addition or subtraction
equation ,b,r,i,d,gz/s to the next or
prexvious ten.

BLL,d,,gz ten

24+8=__

Children will use the make ten
strategy to solrve it.

4 has been partitioned into
two parts, 2 and 2.

| T
20 % 30 % 40

A method uwsed to opproximate a
numher to the nearest appropriate
power of ten;

R,o,un,d,j_n,g

I; the afi,n.,al_ ,d,j_,gj.,t in a numhber

ends in 0, I, 2, 3, &, you round
down to the nearest multiple of
|0.

For example; 64 to the nearest 10
is 60.

If the [final digit in a number
ends in 5, 6, 7, 8, 9, you round up
to the nearest multiple of 10.

For example; 78 to the nearest |0

is 80.
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Ba.r m,o,dziij.n,g

(Meth.od)

+11=16 16 — 11 =

11+ |=16 16 — 11

16

This is way of representing a
prohlem wsing pictures. It is
often a very useful way of
making o complex word problem
more accessihle to pupils. By
‘feeing” the prohlem in the wvisual
form, it is them often easier [or
children to see how to approach
the prohlem.

Skip C,a,u,n.,tin,g

C,oun,tj,,n,,g in multiples.

For example, skip counting in 2s;
2,4,6,8,10

Repeated Addition

Used ;g,r maultiplication.

5+ 5+ 5=1|5

Grouwps of ...

Used for multiplication.

e
o6

Three grouwps of five; 3 x 5
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A,r,r,a,g A ,pi,c,t,ari,al representation ,o{
',chuL,p/s ,O'J_‘ ’,
Q000>
«J 1T Tw
12=3x4 12=4x3
P,L,c,t,o,g raum A ,gr,a,ph which uwses pictures to

represent ,LJL; ormation.

Vertex| Vertices

(plural)

A point where two or more
A,tr,a,i.,gh,t Asides meet. A corner.

“This shape haos [four vertices
and four stroight sides”

Edge / Edges (plural)

The side ,crg.‘ a shape.

“This shape hos three edges”.

Face A Jf,a.,cz is a aU.,a,t /s,u,,r{f,a,cz on a 3D
/sh,a,pz.

Apex The apex can he described as the
point }‘,u.r,thzzs,t Cf,r,om the bhase.

Symmedtrical If an ohject is

shymmetrical if it can bhe divided
exactly in h,a,LJ.‘ A0 that one side
is @ mirror imaoge of the other.
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Venn D,L,a,g,r,am Used for sorting and cloassifying.
M e
— —
|| 'n., ,:
New Wordas
Term 3:
Fra.ction A fraction is a form of o numhber
thaot shows part ,o; a whole.
Nuw.merat.or
3 < Numerotor
avll" —
gj‘ 4 €~ Denominator
e
148
The parts of the whole.
Denominator 3 N to
“—_ umerator
gﬁ‘ 4 <~ Denominator
o
148
The whaole.
Vinculuwm The horizontal Line in the
fraction;
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Unit [raction A unit frocktion is o numhber
written as o froction where the
numerator is one and the
denominator is a positive integer,

for example,

/2, 1/3, I/&, 1/5, 1/6

Non-uwnit [fraction A non-unit fraction is a numher
written as o fraction where the
numerator is more than one and
the denominator is o positive
integer, for example,

2/3, 3/4, 2/5, 2/6

E»och,a,n,gz How many ones would I hawve if I
exchanged all of my tens [or

ones’?

H.ow many tens would I hawve J,; I
exchanged the hundred hlock for

tens?
How many ones would I have if 1

exchanged the ten ten-sticks [or

ones?

< less than
> Greater than % @

greater than less than

56 > |2 56 is greater than |2
12 > 56 56 is less than |2
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Estimate

An estimate is a ,r,ou,g,h.
calculation.

[ estimate the contoiner to
have a copacity of more
than one lLitre. I think it has
a copacity of three litres.

Full, nearly full,
half full

Empty, nearly
empty, half empty

The same.

This bhottle is .

Heawny, heawier,

heaowviest

Light, lighter,
Lightest

The ___ is heawier thon the __
The __ is lighter thon the __.
The _ is the heawviest (lightest).
The hook feels heawier than the
marhle.

The marhle is lighter than the
hook.

The cow is as heanvy as the

horse.

C,a,p,a,ci,t,(é

The amount a container can hold.

Voluwme

A measure of the spoace taken up

by something.
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